PERIMETER SEAL (OPTIONAL)
UBAR WESTERN RED CEDAR FACE SITKA SPRUCE FRAME e o 0o o o6 .
AND TRIM BOARDS g TS
1 0 9°:9%0 5% 00 o
3/16" MAHGONY PLYWOOD
In In GLAZED
soLD TOP SECTION
=~ TOPSECTION < = = =N =
STAIN GRADE 2 1/2" # a JAMBS
A ‘ / ﬁ ‘ 2X6 #2 DOUGLAS FIR OR BETTER
T = WOOD JAMB SEE SHT 2 FOR
1/4" X 1-1/2" LAG SCREWS ATTACHMENT
(4) REQUIRED PER HINGE { HEX HEAD LAG SCREW
3/16" MAHGONY // / (01’)\1 FéiRT %RACKET, SEE DETAIL
PLYWOOD
TRACK BRACKET SHOWN
FULL ANGLE OPTIONAL
SEE DETAIL ON SHT 3
g g TRACK BOLT / WHIZ LOCK NUT
SEE DETAIL ON SHT 3
P! I CENTER HINGE SECTION B8 L e TRACK ROLLER, LONG STEM
SEE DETAIL ON SHT 3 ,
in INTERMEDIATE i EDGE HINGE SEE DETAIL ON SHT 3 RETAINING NUT SEE DETAIL ON SHT 3
. 7/16" PUSH ON STEEL BOX STRUTS
SECTION EDGE HINGE DETAIL RETAINING NUT (1) SEE DETAIL ON SHT 3 2" TRACK
REQUIRED PER ROLLER SEE DETAIL ON SHT 3
SEE DETAIL ON SHT 3
SPRING COUNTERBALANCE
WINDOWS SPRING WIRE INDIVIDUALLY
SEE DETAILS CALCULATED TO COUNTERBALANCE
ON SHEET 3 DOOR. QUANTITY AND SIZE OF SPRING
1/4" X 1-1/2" LAG SCREWS WILL VARY BASED ON DOOR SIZE.
(7) REQUIRED PER )
BOX STRUT CORNER BRACKET %
A
u N
CORNER TOP FIXTURE Tk -
),..-! BRACKET SEE DETAIL ON
SHT 3
In
BOTTOM
/ SECTION
CORNER BRACKET DETAIL i A
STEEL V)
DOOR HEIGHT REINFORCEMENT
1/4" X 1-1/2" LAG SCREWS 7-0"HIGH gfr\ISLTEEUEIRéT(ZEACH
(4) REQUIRED PER \ SHOWN ILE USIN = . .
1/4" X 1-1/2" LAG I 1
TOP FIXTURE S OTHER DOOR E = = =i
! HEIGHTS SCREWS AT EACH =
“'i" AVA'&SBLE LOCATION | = o
- LOCKS REQUIRED — 7 || ‘ A\ ]
1 L TO 10-0 ON DOORS NOT ; ] @ :
= ELECTRICALLY
TOP FIXTURE B B
I | AsTRAcAL = OPERATED
- RETAINER = - - . o
CORNER ; ]
- BRACKET& ! = .
SECTION A-A DETAIL ON SHT 3
TOP FIXTURE DETAIL "
‘ A
; 100" MAX DOOR WIDTH !
INTERIOR ELEVATION
Door Height |Top Section Height Intermediate Intermediate Intermediate Bottom Section
Section Height Section Height Section Height Height DOORS TESTED TO
70" 28" 28" N/A N/A 28" DESIGN fgigD—Af g/llA 51/0 835 1PSF
8-0" 28" 22 21/32" 22 21/32" N/A 22 21/32" - R
9-0" 28" 26 21/32" 26 21/32" N/A 26 21/32"
100" 5 23 >3 >3 >3

SCALE: NONE

TME SPEC, WIND LOAD

oRAWN Y. M,

REUTZEL ARBORSHORE

RAYNCOIR

cHECKEDBY. GW

GARAGE DOORS

>

RELEASED FOR PRODUCTION 582401 | 0526110

DATE 05/26/10

LA sreer | rev

DESCRIPTION En no oate

ECN.NO: 5824.01

1o 3| A

vo.P-2308 |




WOOD OR MASONRY JAMB!
SEE NOTE 5 \
e /4>< \

SEE JAMB ATTACHMENT DETAIL
FOR ANCHORAGE REQUIREMENTS

HEX HEAD LAG SCREW

5/16" X 1-3/4" WITH 5/16" FLAT WASHER.
SPACING: STARTING 8" ABOVE FLOOR
18" MAX. ON CENTER

ANGLE MOUNT
ANGLE TURNED OUT WITH
SECTION LAPPING THE
JAMB BY 1"

VERTICAL TRACK
2" TRACK TO BE 13 GA MIN
(.086 MIN) GALVANIZED STEEL
TRACK ASSEMBLY ATTACHMENT TO WOOD JAMB
2" TRACK ANGLE MOUNT TURNED OUT SHOWN

15" RADIUS

JAMB ANGLE

ONE (1) REQ'D PER VERTICAL
TRACK. ATTACH WITH (3) HEX

HEAD LAG SCREWS

\ VERTICAL TRACK

[=
DOOR HEIGHT
1 TRACK
18"0.C. / BRACKETS
{ I
15"
TYPICAL TRACK INSTALLATION
NORMAL HEADROOM TRACK SHOWN, LOW
HEADROOM, LIFT CLEARANCE AND VERTICAL LIFT
TRACK AVAILABLE
&
—
{
DOOR HEIGHT ' '

ANGLE MOUNT ATTACHMENT
TO STRUCTURE
18" MAX O.C. SPACING

p— ] )

ANGLE MOUNT ATTACHMENT

TO TRACK
18" MAX O.C. SPACING

g

L g

TYPICAL TRACK INSTALLATION ANGLE MOUNT

NORMAL HEADROOM TRACK SHOWN, LOW
HEADROOM, LIFT CLEARANCE AND VERTICAL LIFT
TRACK AVAILABLE

(OPTIONAL) CONTINUOUS ANGLE

13 GA (.086 MIN) GALVANIZED STEEL FOR 2" TRACK
11 GA (.116 MIN) GALVANIZED STEEL FOR 3" TRACK

e

: ZDOOR WIND LOAD IS NOT °
TRANSFERED TO THIS
MEMBER
OPENING —
HEIGHT . 2X6 MINIMU

SEE JAMB ATTACHMENT CHART FOR

ANCHORAGE REQUIREMENTS

—————JAMB FASTENERS

COUNTERSINK IF NEEDED.

LOCATE 1 7/8" MINIMUM AWAY FROM
MASONRY EDGE

MAXIMUM
SPACING

[T
]

‘ OPENING ‘
WIDTH

JAMB ATTACHMENT TO STRUCTURE

1/4" ITW BUILDEX TAPCON
EDGE ALLOWABLE | MAXIMUM ON

WALL CONSTRUCTION EMBEDMENT | | = e TENSION CENTER

LOAD SPACING

HOLLOW BLOCK 1-1/4" 1" 117 8-7/8"
2000 PSI CONCRETE 1-3/4" 2-1/2" 508 36"
3000 PSI CONCRETE 1-3/4" 1 510 36"

5/16™ ITW BUILDEX TAPCON |
| 3000 PSI CONCRETE | 1-3/4" | 2316 | 563 [ 36" |
POWER ANCHOR - 3/8" WEDGE ANCHOR
1-5/8" | 1-7/8" [ 360 | 36"
2000 PSI CONCRETE - | I o8 ‘ o
5/16" LAG SCREW

SPRUCE, PINE, FIR (G = .42) 1-1/2" 1-3/4" 307 23-1/4"

DOUGLAS FIR (G=.49) 1-1/2" 1-3/4" 387 29-3/8"
SOUTHERN YELLOW PINE (G = .55) 1-1/2" 1-3/4" 460 35"

3/8" LAG SCREW

SPRUCE, PINE, FIR (G = .42) 1-1/2" 1-3/4" 352 26-3/4"

DOUGLAS FIR (G=.49) 1-1/2" 1-3/4" 444 33-3/4"
SOUTHERN YELLOW PINE (G = .55) 1-1/2" 1-3/4" 528 36

JAMB ATTACHMENT NOTES

. 1/4" DIAMETER ANCHORS REQUIRE 5/8" MIN. O.D. STEEL WASHER.
. 5/16" AND 3/8" DIAMETER FASTENERS REQUIRE 7/8" MIN O.D. STEEL WASHER.

MAXIMUM NEGATIVE LOAD PER JAMB = (10

arwNR

. MAXIMUM POSITIVE LOAD PER JAMB = (10'-0" X 31.5 PSF) / 2 = 157.5 LBS PER FOOT
" X 35.1 PSF)/2=175.5 LBS PER FOOT.
. DESIGN OF THE SUPPORTING STRUCTURE SHALL BE THE SOLE RESPONSIBLITY OF

THE BUILDING DESIGNER AND SHALL BE DESIGNED FOR THE JAMB LOADS LISTED IN

NOTES 3 AND 4.
6. 3 FASTENERS MINIMUM PER JAMB

SCALE: NONE

oRawnBY: M. REUTZEL

RAYNCOIR

CHECKED BY. GW GARAGE DOORS.

TME SPEC, WIND LOAD
ARBORSHORE

DATE. 05/26/10

DESCRIPTION En no oate )

ECN.NO: 5824.01

v p-2308 [, [




4.74

18.50
—>
—>
JAMB ANGLE

.078 GALV. STEEL

i - 1.43

CORNER BRACKET
.116 GALV STEEL

o

= 275 f—2.75
I 6.94 { 4,500 .62
I L ‘ L{ L 2.50 »1
- 0 0
M M 1.81
) JAMB AND HEAD SEAL
281 | —— 3 WOOD WITH FLEXIBLE PVC FLAP
o : TRACK ROLLER, LONG STEM 5.04 2.86
1] Wl | 7.50 l
3" TRACK BRACKET i 100
.116 GALV STEEL U ’
STEEL BOX STRUT DETAIL 2
2.0 X [
1.50 ! o o 20 GA. (.035" MIN) GALVANIZED
- 1 HIGH TENSILE STEEL 80 KSI MINIMUM YIELD L -
CENTER HINGE EDGE HINGE

q q
.116 GALV STEEL
3.00
< 5|

4" TRACK BRACKET
.116 GALV STEEL

3.18 —=

r2.75~—‘

— ROLLER CARRIER

1086 GALV. STEEL
550
BASE
102 GALV. STEEL
0 o o
TOP FIXTURE
’—76.254—
512 | | [ T ‘)
@] o]
INTERIOR LOCK
@ .42
04 75
@ 88 = r T
@wm—@gl
TRACK BOLT
RETAINING NUT ? 59

@ .52\

HEX HEAD LAG SCREW

.116 GALV STEEL

TRACK
.086 GALV. STEEL

SINGLE PANE WINDOW DESIGN

4-OVER-4 WINDOW WINDOW DESIGN (SWING-OUT
ARBORSHORE: TRUE DIVIDED GLASS
STREAMWOOD: SIMULATED DIVIDED GLASS

HE
| 0|

UBAR

20 GA. (.035" MIN) GALVANIZED

80 KSI MINIMUM TENSILE

—

ARCHED SINGLE PANE WINDOW DESIGN

==

ARCHED 4-OVER-4 WINDOW DESIGN (SWING-OUT ONLY)
ARBORSHORE: TRUE DIVIDED GLASS
STREAMWOOD: SIMULATED DIVIDED GLASS

ONLY)

GLAZING OPTIONS

1/8" CLEAR TEMPERED
1/2" CLEAR INSULATED TEMPERED
1/2" INSULATED ANTIQUE SEEDED

2-OVER-2 WINDOW WINDOW DESIGN (BI-FOLD ONLY)
ARBORSHORE: TRUE DIVIDED GLASS STREAMWOOD:

SIMULATED DIVIDED GLASS

SCALE: NONE e
SPEC, WIND LOAD
oA B M. REUTZEL RAYNOR ARBORSHORE
CHECKED BY: GW. GARAGE DOORS
DATE 05/26/10 BOX 448 EAST AIVER ROAD SHEET REV
O, L. 61021 NO. P-.
v DESCRIPTION Ecn v oae | ecn wo: 582401 P-2308 | s alA




